0o Internal
LSTON

.Page

FIN

.DRG $1000 ;move this code into the eprom
.no SystemCode

DevSubType .Equ $00 ;system device
.ELSE -

bBeuSubType .Equ $01 .diagnostic device
.FIN

BLOCK 0,2 ;reserve two bytes for the checkbyte
.0B 0 ;bank O

Passhord: .0B $F0, $78, $3C, $IE
Do H_10MB
FmiDelay: .DB $iF ;busy wait for g while
.ELSE
FmtDelay: .DB $1F
Fin
.00 H_101B
Rl _Lylinder = .Equ 237 ;cylinder at which to turn o BHI and PC
.FIN

.00 H_20MB
Rl Lyl inder .Equ 257 ;eylinder at which to turn on RH and PC

.FiN
.0o H_40MB
RHi _Cyl inder JEqu 514 ;eylinder at which to turn on RHI and PC
FIH
Rl Value: .bB JHIBYTE. BMI_Lylinder, .LOWBYTE. RWi_Cylinder
BO YctTab:
Start_Uector: Jp Start_Command
Ll _Vector: Jp Load {ogical
{H Vector: Jp Load_Header
Rdl lector: Jdp Rd_leque
£S5 _Uactor: Jp CirformSial
LdPw_Usctor: iLd ir2,#% HIBYTE. Load_PassHord
Ld 1r3,% LOWBYTE. Load_Passliord
Call Bank_Lall
Ret
Free_lJector: Ld ir2,% HIBYTE. Stri_FreeProcess
Ld 1r3,# LOUBYTE. Strt _FreeProcess
Catl Barnk_Cal i
Ret
ExiStk_Vector: Ld tr2, % HIBYTE. Init_ExtStack
Ld I3, % LOWBYTE. Init_ExtStack
Call Bank_Call
Ret
ZrRd Vector: Ld Ir2,% HIBYTE. Zero_RdBuf
id {r3,% LOUBYTE. Zero RdBuf
Call Bank_Call
Rat
CirStat_Vector: id Ir2,#® HIBYTE. ClearStatus |

Ld Ir3, % LOUBYTE. ClearStatus



SifTst_Uector:

SprToi _Vector:

LC Vector:

Scan.lector:

| Scan_Uector:

1Scan_Sprihic:
{Scan_Ret:
HrBik_Uector:
UetrBO_Ret:
RdBlk_Uector:

SC_Usctor:

Seek_Uector:

ExtPush_Uector:

ExtPop_Uector:

DeviceParoms:

Calt
Ret

Ld
Ld
Cail

Ret

Ld
Ld
Call
Ret

Ld

Cali
Ret

Ld

Call
Jp

Call
Jp

id
Ld
Call
Ret

Ld
Call
Ret

.bo

Bank._Call

Ir2,% HIBYTE. SelfTest
Ir3,%# LOWBYTE. SelfTest
Bank_Call

'rz, % HIBYTE. Load_SprTbi
ir3, # | OUBYTE. Load SprTbl
Bank _Cal i

Ir2, % HIBYTE. Load_Cache
1r3,# LOUBYTE. Load_Cache
Bank_Lal |

ir2, % HIBYTE. D_Scan
13, LOWBYTE. D_Scan
Bark _Call
Pd_Leave

Ird, #0evSubType ;check for SystemCode

irQ, ird ;iF SystemCode THEN DevSubType = O
Nz, |Scan_Ret

Excpt_Stat #PwrRst [only do scan after power reset
2, 15can_Sprlhk

ir2,# HIBYTE. Scan

Ir3,# LOWBYTE. Scan

Bank_LCall

'r2,% HIBYTE. Chk _Sprint

Ir3,# LOMBYTE. Chk_Sprint

Bank_Cail

ﬂriteB!ock
Bank_Ret

ReadBiock
UctrBO_Ret

Srch_Cache
UcirBO Ret

Ir2, % HIBYTE. Seek
Ir3,% LOWBYTE. Sask
Bank_Lall

Bank_Ret

Ir2, % HIBYTE. Ext Push
1r3,%# LOWBYTE. Ext_Push
Bank_Call

Ir2,® HIBYTE. Ext_Pop
Ir3, % LONBYTE. Ext_Pop
Bank_Call

H_10MB



Dev_Parm_Len

.RASC1I

.LSTOFF
.FIN
.0o
.LSTON
.FIHN

LSTOFF

.oe
LSTOFF
.FIN
.00
LLETON
.FIN

.Equ

.LSTOFF

‘Widget-10

$00, $01, $0 + DeuvSubType

HiRevNumber, LoRevNumber

$00, $4C, $00

532 ;number of bytes per block

514 ;rumber of cylinders is 514

$02 ;number of heads is 2
NbrSctrs

$00, $00, ?6 ;number of spare possible

internal

H_20MB

'Hidget-20

$00, $01, $10 + DevSubType
HiRevNumber, LoRevNumber

$00, $98, $00

332 ;number of bytes per block

214 ;number of cylinders is 514

$02 ;number of heads is 2
Nbrsctrs

$00, $00, 76 ;rnumber of spare possibie

internal

W_40ME

‘Hidget-40

$00, $01, $20 + DeuSubTupe
HiRevhumber, LoRevNumber

$01, $20, $00

532 ;rumber of bytes per block

1028 ;number of cylinders is 1028

$02 srumber of heads is 2
NbrScirs

$00, $00, 76 ;number of spare possible

Internat

.PC. - DeviceParams



